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1. 524258 In each question there is only onc correct answer. Select the answer you believe to be
most correct. (25%)

|. When markets fail,
a. public policy can do nothing to improve the situation.
b. public policy can potentially remedy the problem and increase economic efficiency.
¢. public policy can always remedy the problem and increase economic efficiency.
d. public policy can, in theory, remedy the problem, but in practice, has proven to be
ineffective.

2. The more freedom people are given to choose the date of their retirement
a. the more elastic the supply of labor.
b. the less elastic the supply of labor.
¢.  the steeper the labor supply curve.
d. the smaller the reduction in output caused by a tax on Iabor

3. Suppose the budget deficit is rising 3 percent per year and nominal GDP is rising 5 percent
per vear, the debt created by these continuing deficits is
a. sustainable, bui the future burden on your children cannot be offset.
b. sustainable, and the future burden on your children can be offset if you save for them.
c. not sustainable, and the future burden on your children cannot be offset.
d. not susiainable, but the future burden on your children can be offset if you save for
them.

4. The Asian Development Bank has been investing in education and training programs in the
developing economies of Asia over the last five years. As a result of this investment,
economists who adhere to the Human capital view of education would predict
a. falling wages as the labor market is saturated with too many educated workers.

b.  the marginal productivity of capital would not be afected.
¢. the marginal productivity of labor would not be affected.
d’ rising wages as labor productivily is enhanced.

5. [Ifempirical tests of the human capital theory find conclusive evidence that education
enhances productivity, then optimal public policy would suggest that
a. everyone should be required to finish high school.
b. compulsory schooling laws always increase social well-being.
c. the benefits of increased productivity need to be weighted against the opportunity cost
of education.
d. acollege education should be required of all members of society.
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I. Most economists agree that eliminating unemployment insurance would reduce
unemployment, and the economic well-being would be enhanced by such a change.

2. Coﬁsider a sealed bid auction among n people for some good. Let vi be the value of the
good to person i. 1f the good is sold to the highest bidder at the second highest price bid, it

will be in each player’s interest to tell the truth,

1L [FEHE (6]%)

1, Suppose there are only two individuals in society. The demand curve for pollution control
for person A is given by ¢, =100—P '
For person B the demand curve for pollution control is given by
g
a) Suppose pollution control is a pure public good. What would be the optimal level of this

-activity if it could be produced at a constant marginal cost of $120 per unit?
b) If pollution conirol were left to he private market, how much might be produced?

¢, =200-P
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(A) #5H E 4 (structural unbundling)
(B) B2 47 3§ (parallel bilateral competition)
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2 x? for x<0

I. Find ¢ such that f{x) is continuous  f(x) =
2Ax-¢) for x20.

2. Find the derivatives % ,20%..

5
a y=u and u=

b, y=41-x
(3x—2)
= =Inx
x+\/)j 1 .d. y /\/;

3. Sketch the following function; indicate roots, local extrema, inflection point (if

. 4
any), and concave structure.  f(x)= 457+ x% 15%.

4, FEwvaluaie the following . 30%

I
) dx 3
a [("+2Pdx b | c {7
,J,‘ ) J-\/x(l ++X) '{
Inx Ko e'+ef -2
d ch + y)dxd . ym——
J‘x2 y -”'(l y)ekdy 1‘19;;1 xsinx

5. % =2y-3 y0)=2, findthe solution of y in terms of x. 5%.

MY

6 By looking at the Taylor series, decide which of the following functions is largest,

which is smallest for small positive 8. 15%

1
a. 1+siné& b. ¢’ c.
1-26

7. SAEESHEBIFE A Fl AU R BN T 10%

000 for 0<r<40
U0 0.0263-0.00028  for 40 < <933

L EER P B (Median) 58 (Mean).
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Which of the tollowing 1s a bar chart? Which s a histogram?

In general, what is (are} the difference(s) between a bar chart
and a histogram? [ K& 4
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5. Dr. Huang feels that male and female voters have the same
opinion of him. A random sample of 36 male voters showed
that 12 of these voters favored his election. And in a random
sample of 50 females voters 18 were his supporters.  Test Dr.
Huang’s assumption, using a significance level of .05. [ & A 15
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6. HEBREMBTAALEALLAERA  BRAFERATARER

WARFE o A—R P RERFH _EEA 0 Hoffman #o Cruise
B ERAME R T (1) EAHAEREGATFY - A 15000 %
AREER 18000 £ALWER Q) AMAAKREHNATY K
16,000 A3% 45 Hoffman - 17,000 A 4% 45 Cruise »

Bipr A 4% 2 A 454 Hoffman a9t &£ %0 2 [RH3 4]

AR BRE R Ry - REW NIRRT GERAR

Itk FEH 235 R EE 434 Hoffman » @4 8 42 40 &) sfe

B4 Cruisee [AHM65]

a) BIRPEMHTIESY

b) fRITEMEERES - A4k Cruise AT R A FRMBEL S
B0 (BERHMEATHT) ,

BERAGREAFBEABAGHEHSE R TR - AR XBAR

B ki EZHAAHA 20,100 F - REARBAHHERT > HA

338 Aayphs o (A4 165]

For sale (at end of | Median sales | Mean sales
Month{ Sold month) price price

1 7,000 30,100 2,715,000 3,083,000
2 7,100 30,500 2,763,000 3,151,000
3 6,300 30,500 ' 2,747,000 3,107,000
4 6,500 30,100 2,620,000 3,081,000
5 7,200 29,800 2,713,000 3,096,000
6 8,600 29,100 2,691,000 3,116,000
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{5734 Waterfront Redevelopment? 3% M AT £ &0 8257
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S AR RS R+ 0 3 18 4] (Planning )~ & #2 (Management ) >
ﬁiﬁ (Environment) Fofg A& (Users) M » A A&tk 7 FH4E
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s MR E 5 s (World Trade Organization; WTO ) iﬁ""*)%‘&rﬁ?:fﬂi‘%

BHE > BARRIRS  HEFRNEUTHHE (a0 25%):

(1) #FHAWTOMFEFALAMER T AdF H , (freetrade) & T aF
¥ 5, (fair trade) R ? b Realir LB - BB E L = Aas
R (10% ) ‘
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Ao~ A EHIER F o M B £ 2 (State capacity )$2 Bl & A E 44( State
autonomy ) W& KR & A EBEHA T AR HATRF B> TH
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L i—~BAREGHEETH EE2HRTHB L HELAN FREEMEZE (SARS)
ZEEET  HHAAAL SRAFERAMEHAMEY - HRAETETH
BlAg

(1) #E H"SARS 2 5 24 « (54)

(2) BABMHAT » MR SARS 0% » £ (i@ | SR TRR -
AT LRI o (10 ) '

() S BIHEEE ~ Ag ~ B BCIE R WIS M T 3 4R SARS
AT AR (15H)

2. (1) 473 glocalization™ ? HAHF)IMY - (10 )
(2) A At glocalization” 2 3L & & § it skt in A 2 Mtk - S @
HATHETAMEMA B L RAAE  H AR ILF glocalization” 2 & &
RERBTAR AL 2HE » RANBEEHAHH 2L I 2 HE -
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